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I. Open the brackets
1. My brother (not/to wear) shorts in summer.
2. She stopped __ (to play) the guitar the moment Jack walked into the room.
3. Ifl (to have) wings, | (to fly).
4. Ann is tired because she (to play) tennis for two hours.
5. Kate’s Grandma (to buy) a new TV yesterday.
6. He’ll call you as soon as he (to get) home.
7. There __ (to be) a lot of snow three days ago.
8. We (to fly) to Moscow tomorrow. Here are the tickets.
9. Peter (to do) his homework at six o’clock in the evening

yesterday.

10. Look at the timetable! The train (to leave) in five minutes!
11.John (never/ to fly) by plane.
12.1f he (to have) free time, he always (to go) for a walk.
13.Ben is the (good) student in our class.
14.When my sister was five, she (not/can/ to swim) very well.
15.Children (should/ to help) their parents about the house.
16.Their grandparents can sing (beautiful).
17.Bread (to eat) all over the world.
18.They (to know) each other for four years.
19.Jim is (healthy) than Mary.
20.The cake (to make) now.
21.They (already/to have) dinner by the time | arrived.
22.1 wish | (can/ to fly).
23.1F | (to know) about the party yesterday, | (to come).
24.1 wish | (not/ to forget) my umbrella yesterday.

25. “Where were you last summer?” She wanted to know




I1. Ask five types of questions to the sentence:
Ann drew a nice picture of a tiger yesterday.

a general question
an alternative question
a question to the subject

a special question

A A

atag question

I11. Read the text and choose the right answer.

* Reading

E Read the text. In each question choose the right answer, A, B, C or D.

Christopher Columbus was a famous explorer. He came from Genoa, a seaside city in the north of ltaly.
When he was a boy, Columbus knew he wanted to become a sailor, and he first went to sea when he
was only 14 years old.

In Columbus’s time, getting to Asia was very important for Europeans. This is because Asia had
wonderful things that Europeans wanted to buy. Europeans knew of two different ways to get to Asia:
over land through the east or by sea around the coast of South Africa. But both these journeys were
difficult, dangerous and took a very long time.

Columbus had an idea to sail west, instead of south, across the Atlantic Ocean because he thought he
could reach Asia more quickly and easily this way. Columbus told the king of Portugal about his idea
and asked him to give him ships for his voyage. The king said no. He asked the kings of France and
England. But they said no too. After many years, the king and queen of Spain agreed to help Columbus.
In August, 1492, Columbus set sail from Spain. Two months later, he landed on an island in the
Americas. This landing was one of the most important in European history. It was the start of the
Europeans living in America. But Columbus didn't understand he was in a new part of the world! He
was certain he was in India. This is the reason he called the natives who lived in the Americas ‘Indians!
Columbus returned to the Americas three more times during his lifetime. Each time, he believed he was
in Asia. During his life, Columbus never realised he was in a new part of the world. Even though Columbus
was wrong about being in Asia, people today still consider Christopher Columbus a great explorer.

1 Christopher Columbus 4 Columbus finally crossed the Atlantic with the
A didn’t decide to become a sailor until he help of the
was an adult. A Spanish king. C English king.
B first saw the sea when he was 14 years old. B Portuguese king. D French king.
C lived by the sea when he was a child.
D moved to Italy when he was little. 5 When Columbus arrived in the Americas,
A he didn’t know what to call the native
2 In Columbus’s day, Europeans people.
A didn’t know an easy way to get to Asia. B he was sure he was in India.
B sold lots of things to Asia. o C there weren’t any people there.
C could reach Asia quickly. D there were already people from Europe there.

D could only get to Asia by land.
6 From the text, we know that Columbus

3 Columbus's idea to get to Asia quickly was A went back to America three times.
A to sail from Portugal. B discovered a new part of Asia.
B to sail south. C discovered a new way to reach Asia.
C to use new ships. D was a bad explorer because he didn’t find
D to sail west. Asia.

( Points: __\



Yemuas wacme
I. Read the text aloud. You have 1,5 minutes to get ready.

Columbus had an idea to sail west, instead of south, across the Atlantic Ocean because he thought he
could reach Asia more quickly and easily this way. Columbus told the king of Portugal about his idea
and asked him to give him ships for his voyage. The king said no. He asked the kings of France and
England. But they said no too. After many years, the king and queen of Spain agreed to help Columbus.
In August, 1492, Columbus set sail from Spain. Two months later, he landed on an island in the
Americas. This landing was one of the most important in European history. It was the start of the
Europeans living in America. But Columbus didn't understand he was in a new part of the world! He
~ was certain he was in India. This is the reason he called the natives who lived in the Americas ‘Indians.
- Columbus returned to the Americas three more times during his lifetime. Each time, he believed he was
E in Asia. During his life, Columbus never realised he was in a new part of the world. Even though Columbus
' was wrong about being in Asia, people today still consider Christopher Columbus a great explorer.

I1. Answer the questions. Give full answers.
Ten questions are based on the topics:
School and school life

Family and friends

Free time and hobbies

Sports and keeping fit

Nature and the weather

Learning English

Using the Internet

Famous sights in English speaking countries



Knrouu x 3a0anusam

I. Open the brackets

1 does not/doesn’t wear |14 | could not/couldn’t swim

2 playing 15 | should help

3 had/ would fly 16 | beautifully

4 has been playing 17 |iseaten

5 bought 18 | have known

6 gets 19 | healthier

7 was 20 | is being made

8 are flying 21 | had already had

9 was doing 22 | could fly

10 | leaves 23 | had known/ would have come
11 | has never flown 24 | had not/hadn’t forgotten

12 | has/goes 25 | where | had been the previous summer.
13 | best

I1. Ask five types of questions to the sentence:

Ann drew a nice picture of a tiger yesterday.

A A

Did Ann draw a nice picture of a tiger yesterday?

Did Ann draw a nice picture of a tiger or a lion yesterday?

Who drew a nice picture of a tiger yesterday?

What did Ann draw yesterday?

Ann drew a nice picture of a tiger yesterday, didn’t she?

I11. Read the text and choose the right answer.

1.C 2A 3D 4A 5B 6.A

3a Kascowlil npasuibHvlil omeem 6 3a0anusnx 1-3 evicmasnaemca 1 oann.

Ha evitnonnenue 3aoanuii omeooumcs 40 munym.




3aoanue 1 nposepsem c@opmupo8aHHoCmb HABbIKA PACNO3HABAHUS U

ynompeobaeHus c1edyrouje2o Mamepuand.:

Present Simple, Present Continuous, Present Perfect, Present Perfect Continuous,
Past Simple, Past Continuous, Past Perfect, Future Simple, Present Continuous for
plans and arrangements, Present Simple for timetabled future, to be going to do
smth, there is/are/was/were, Passive Voice, comparison of adjectives, Zero
conditional, First Conditional, Second Conditional, Third Conditional, modal

verbs(can, could, should), adjective+ly=adverb, Reported Speech.

3aoanue 2 nposepsiem chopmupo8aHHOCMb HABLIKA 3A0ABAMb PA3HbIE MUNbBI

B80NPOCOos.

3aoanue 3 nposepsiem chopmupo8aHHOCMb HABLIKA NOUCKOBO2O YMEHUS C YEIbIO

8b100POUHO20 NOHUMAHUSL He0OX0OUMOU UHDOpMAYUU U3 MeKCmA.

KpI/ITCpHI/I OLCHUBAaHUMA BBIITIOJTHCHUA BaIIaHI/Iﬁ YCTHOﬁ qaCTu

3ananue 1 (UTeHHe TEeKCTa BCIIyX) — MAaKCUMYM 2 Oaiia

bamner | doHeTnyeckas CTOpoOHA peun

2 Peup BocippHUMAETCS JIETKO: HEOOOCHOBAHHBIE T1ay3bl OTCYTCTBYIOT;
dbpazoBoe yaapeHHE W MHTOHAIMOHHBIE KOHTYPBI, IMPOU3HOIICHUE
CJIOB TIPaKTUYECKH O3 HapyIICHWH HOPMBI; JTOMyCKaeTCs He
Ooiee

naTd (POHETUYECKUX OIIMOOK, B TOM YHCIIE OJHA-JABE OIIMOKH,
HCKaXKAIOIIHNE CMBICIT

1 Peur BoCpWHMMAETCS ITOCTATOYHO JIETKO, OJHAKO MPUCYTCTBYIOT
HEOOOCHOBaHHBIE Tay3bl; ()pa3oBOC yAapeHHUE M HHTOHAIMOHHBIC
KOHTYPBI NPaKTUYSCKH 0€3 HapyIIeHWH HOPMBI; JOIYCKAeTCs HE
Oosiee ceMu (POHETHUSCKHX OIITMOOK, B TOM YHCIIC TPH OIIMHOKH,
VCKaYKAFOIIHUE CMBICT

0 Peur BocmpuHMMAaeTCsS ¢ TPYJAOM H3-3a 3HAYUTEIBLHOTO KOJHUYECTBA
HEECTECTBEHHBIX IMay3, 3alTMHOK, HEBEPHOU PACCTAHOBKH YIApCHUN U
OIIMOOK B MTPOU3HOIIICHUH CJIOB,

NJIN nonymieno Oonee cemu poneTndeckux omuodok, MJIN
JOMYIIIEHO YeThIpe U OoJsiee (POHETUYECKUE OIIUOKH,

VCKA)KAIOIIHE CMBICT




3aganue 2 (yyacTve B YCIOBHOM Juajore-paccrnpoce) — makcumym 20 6amioB

OHCHI/IBaCTCH OTACIIBHO Ka)KI[Hﬁ n3 JCCATH OTBCTOB.

OaJJIBI
OtBetnl | 2 Oayuta 1 6ann 0 6ann0B
Ha JlaH noJHbIM, JlaH moJIHBIN OTBET HA OTBeT Ha BOIPOC
BOIIPOCHI | pa3BEPHYTHIN ITOCTABJICHHBINA BOIPOC; HE J1aH,
1-10 OTBET Ha nomnyuieHHuble otaenbHeie | MJIN otBeT He
MMOCTaBJICHHBIN dboHeTHuecKue, COOTBETCTBYET
BOIIPOC; JIEKCHYECKHUE U 3aJJaHHOMY BOTIPOCY,
JONYIIEHBI 1-2 rpaMMaTHYECKHE NJIN otBeT naH B
OT/ICJIbHBIC MOrPEUTHOCTH BHJIC CJIOBa
dboHeTuueckue, | He 3aTPYAHSIOT WM CJIOBOCOYETaHMS,
JICKCUYECKHE U HOHHMMAaHMUS N/WJIA nomyuieHbl
rpaMMaTHYECKUE dhoHeTHueCKUE
MIOrPENTHOCTH U JICKCUYECKHE, U
rpaMMaTUYECKHE
OIITNOKHU,
MPEMATCTBYIOIINE

IIOHMMAaHHIO OTBECTa

Maxkcumansnuotit 6an 3a mecmoewie 3aoanusn 1-3 - 36 éannoe™

*) Koiuuecmeo 60npPocos 6 3a0anuu 3 MO2ym 6apouposamuscs om 5 00 7.

Makcumanvnulit 6a11 3a 3a0anus ycmuou yacmu - 22 oanna

Ha gvitnonnenue 3a0anusn ycmuoi uacmu omeooumcea 10 munym




